
Conversion de Fractions (J)
Pour chaque nombre décimal ci-dessous, trouvez la fraction qui lui correspond.

0.28571 = 0.27273 = 0.25 =

0.31579 = 0.54545 = 0.4737 =

0.66667 = 0.5 = 0.6875 =

0.2 = 0.55556 = 0.0833 =

0.09091 = 0.91667 = 0.6667 =

0.14286 = 0.25 = 0.5 =
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Conversion de Fractions (J) Solutions
Pour chaque nombre décimal ci-dessous, trouvez la fraction qui lui correspond.

2 3 1
0.28571 = — 0.27273 = — 0.25 = —

7 11 4

6 6 9
0.31579 = — 0.54545 = — 0.47368 = —

19 11 19

2 3 11
0.66667 = — 0.5 = — 0.6875 = —

3 6 16

1 10 1
0.2 = — 0.55556 = — 0.08333 = —

5 18 12

1 11 2
0.09091 = — 0.91667 = — 0.66667 = —

11 12 3

2 1 1
0.14286 = — 0.25 = — 0.5 = —

14 4 2
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